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Lesson 2.1: Integers and Absolute Value

Vocabulary

Term Definition
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Integer

Positive Number Q@I Negative Number (> x
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Write an integer for each situation. Then identify its opposite and describe what it
means.

1a. A loss of 8 yards 1b. A deposit of $15
S e LS By oF
?l&‘\n B \,jow‘c\ S \N\H\dm\/\y \ ‘5
2a. Write two inequalities involving —7  2b. Replace the @ with <, >, or = in
and —3. —1 © 2 to make a true statement.
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3. The recorded highs in degrees Celsius at Niagara Falls from February 21 to 28 of
arecentyearare 4, 2,3,—6,—5,—1,0, and 1. Order the temperatures from greatest

to least. j
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Vocabulary
Term Definition
The distence 0F o numbec o zero
Absolute Value ON +he Number Line.
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X The absclore valve (s alwoys positive,
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4a.|-3| = %

5a. Evaluate |y| + 8ify = —7
\ =l 8w

S
Lesson 2.2: Adding Integers
DO FIRST

4b. |-4| — |3]
\

5b. Evaluate 9 — 5|z| if z = 3

fale i =

=15

b

S

Write an integer for each situation. Identify its opposite and describe its meaning.

1. A bank withdrawal of $500 2. A gain of 4 pounds
00 200 = SF -4 |
deposrh noy loss % \bs
Write two inequalities using the number pairs. Use the symbols < or >.
B2 andi="5 7 = -5 4. —4a:d—88 - 4
Sl 5 e 7 = L,
S
Evaluate each expression ifx = 7 and y = —6.
5, 5= |37 6. [yl +x
Key Concepts

The sum is:

To add integers with the same sign, add +heir absolute valves.

| oo B Gl aavinle s et peEanvie

e Ntacdte (& bobh tumbers ace  neaahve

il =3 == [(=4) 115 — - (—114D)
B ey
2a.—8 + (—2)

e

1¢. =7 + (=2)
=

A5, —il 4 (=12)
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To add integers with different signs, <;,, el T do

Na\vess
The sum is: | o
o 0o hVE 1€ Fhe numbexr with the bigge\r OO\ e valu
CoposmtiNe

* Negatwe i€ Yhe NWbeor widn Hee agoc albseloie value 1S

3a.5 + (-2) 3b. 4 + (—8) N
4a. —20 + 4 » 4b. 16 + (—5)

2o G |\ .

5. A scuba diver is 120 feet below the water’s surface. She then ascends 83 feet.
What is her current depth? Write an addition equation and tklen solve. Interpret

the sum. = o= G .
@S 371" below Seen level
vlieGr ot O

Vocabulary

Term Definition

AN infegexr ond its oppos e

Additive Inverse

The som of O\nu) NUMpec ond

Additive Inverse

Property s addifve WnwWerse. s zexDd
6a.4+ (—2) + (—=7) 6b. —10 + 3 + (—7) + 12
6c. —9 + 12 + (—11) 6d. -8+ 4 + (1) + 6
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Lesson 2.3: Subtracting Integers

DO FIRST
2 07 4 (=)

il, —7 - (=3)
—10 S

“Write and solve an addition equation. Then interpret the sum.
3. Ty had $450 in his savings account. He made a withdrawal of $160 to buy a

bicycle. What is the balance in his account after the withdrawal?
He hos accevnt paleoce

SS? 10‘0 of %20

5 05 A () =

T 7 () - 7

- .

Key Concepts
To subtract an integer, oadd i%g adc fhve \nwese.
7t =t e
la.4— 15 2b.—3 — 12 & o
-
= e ) 8
I\ 5 J §
ey == 2 (a9 2b. —5 — (—11) S| O’Qg
(?,

20 0

Find the distance between each pair of integers
3b. —6 and 5

3a.—30 and —22

4. A gopher begins digging at 7 inches below ground level and stops digging at 16
inches below ground level. How far did the gopher dig?

-

4
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Lesson 2.4: Multiplying Integers
DO FIRST

I, =19 2o =7 = ((=ildl)

e eI e

Find the distance between each pair of integers.

3. —1land —7 4., —8 and 8

L I\

5. Moira dug a hole 2 feet deep to transplant a shrub. The shrub stands 3 feet
above the ground. Write an expression to find the distance from the bottom of

the hole to the top of the shrub. What is the distance? K—Sk
3 7 5? s T
Key Concepts
Multiplying Two Integers with Different Signs: +he onewecr Wil e
p o) = n ho,go\'hve,
la. 7(—8) gy, =60 12

= L

Multiplying Two Integers with the Same Sign: +he onswer Will be

pesinve
Pppzp (\ﬂ:@

gl =3((=1lil) 2b. —13(—4)
3. A scuba diver descends from the surface at a rate of 7 feet per minute. What was

the scuba diver’s depth after 15 minutes? Write a multiplication expression. Then
find and interpret the product. ‘ O 5

"——I Ny @9 ioeleV rae

5 Surfa ce
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Even Number of Negatives

0dd Number of Negatives

% AnSwes = PosS) hwve ANSWeC = Nega e

4a.—7(9)(—6)

4b. —3(—4)(-5)

sgr e bt

5a. —3(6y)

~1By

5b. —9x(3y)

’ija

6a. Evaluate 2rs ifr = 5and s = —10 6b. Evaluate 4ab ifa = —8 and b = —4

2l o) Sle@ 17 %

Lesson 2.5: Dividing Integers

DO FIRST

1. 8(=3)(-5)

2. —2(=9)(=5)

3. Mr. Heppner bought lunch with his debit card every day for 5 days. Each day he
spent $8. If these were his only transactions, what was the change in his account
balance? Write a multiplication expression. Then find and interpret the product.

4, 8j,ifj = —11

5. —9cd,ifc = —3 andd = —7

Key Concepts

@ B

Divide Integers with Different Signs: ¥nhe anewecs \S nagak\ug,,

£.n N=pP=N
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gy, =63 <5 7/ b

=) E e

Divide Integers with the Same Signs: +he answec Wi\l be Peeshwe

P P A=A
2E =35 = (=5) o 22
3 :
i 13
Evaluate each expressionifx = —6and y = —3

SIEL, 5 o 5% Slon 868 <= (=) o sy

& P i S )

2=y =ipt \D
4a. Linda has scores of —3,—2, 1, and 0 during 4 rounds of golf. Find the mean and
interpret the quotient. : 0N onexciese.

-—\2_5 _l — She 1S oma

B\ ow Pax

4b. The last four transactions Jesse posted in her checkbook were
—$35,$23, —$156, and $60. Find the mean and interpret the quotient.

__ZQ-‘ il o‘(\\ o\\re,rchz_, \’\Q
(S epending 8271 cer
Review Day 1
DO FIRST

1. 40 = (—10 o2 =
(=10) 2.®= 72
— L_1 % ey
3. The following are the changes of a value of a certain stock over the last 5 days:

—$7,49%3, +$6, —$’2, —$$. Find the mean and interpret the quotient.
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